	TABULATION SHEET Bid No. 2018-035-6728 Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org DESCRIPTION: Est. Qty.			VENDOR #1 Community Waste Disposal, LP 2010 California Crossing Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301 Unit Price Extension			VENDOR #2 Progressive Waste Solutions of Texas, Inc. 12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723 Recommended for Award Unit Price	Extension	VENDOR #3 Waste Management of Texas, Inc. 520 E Corporate Drive, Suite 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431 Unit Price Extension		
	Section 1: Front Load Containers										
1	Location: Youth Village 1508 E. Langdon Road., Hutchins, Texas Size: 8 cu. yd. Frequency of Service: 5 (MTWTHF)	12	month	\$39	96.80	\$4,761.60	\$360.26	\$4,323.12	\$493.	60 \$5,923.20	
2	Location: Youth Village 1508 E. Langdon Road., Hutchins, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	96.80	\$4,761.60	\$360.26	\$4,323.12	\$493.	60 \$5,923.20	
3	Location: Youth Village 1508 E. Langdon Road., Hutchins, Texas Size: 8 cu. yd. Frequency of Service: Three (3) times per week (MWF)	12	month	\$27	70.40	\$3,244.80	\$216.15	\$2,593.80	\$296.	16 \$3,553.92	
4	Location: Youth Village 1508 E. Langdon Road., Hutchins, Texas Size: 8 cu. yd. Frequency of Service: Three (3) times per week (MWF)	12	month	\$27	70.40	\$3,244.80	\$216.15	\$2,593.80	\$296.	16 \$3,553.92	
5	Location: Elections Voting equipment WarehouseYouth Village 1506A E. Langdon Road., Hutchins, Texas Size: 8 cu. yd. Frequency of Service: One (1) time per week (W)	12	month	\$10	06.40	\$1,276.80	\$72.05	\$864.60	\$98.	72 \$1,184.64	
6	Location: Sign Shop (Road & Bridge District 3) 1506 E. Langdon Road. Hutchins, Texas Size: 4 cu. yd. Frequency of Service: Two (2) times per week (TF)	12	month	\$14	8.80	\$1,785.60	\$72.05	\$864.60	\$98.	72 \$1,184.64	
7	Location: Road & Bridge District 3 1506 E. Langdon Road. Hutchins, Texas Size: 8 cu. yd. Frequency of Service: One (1) time per week (W)	12	month	\$10	06.40	\$1,276.80	\$72.05	\$864.60	\$98.	72 \$1,184.64	
				F	Page 1				2018-035-	6728 Trash Disp	

Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services

Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org

sal
3
2

VENDOR #2
Progressive Waste Solutions of Texas, Inc.

12150 Garland Road Dallas, TX 75218
Scott Hunter
Tel: 972-289-6714
Fax: 972-289-6723
Recommended for Award

VENDOR #3
Waste Management of Texas, Inc.
520 E Corporate Drive, Suite 100
Lewisville, TX 75057
Melanie Sanders
Tel: 972-623-7277
Fax: 866-281-7431

	DESCRIPTION:	Est.	Qty.	Unit Price	Exte	ension	Unit Price	Exten	sion	Unit Price	Exte	ension
8	Location: Sheriff's Patrol 1512 E. Langdon Road. Hutchins, Texas Size: 8 cu. yd. Frequency of Service: Two (2) times per week (TF)	12	month	\$18	8.00	\$2,256.00	\$7	72.05	\$864.60		\$197.44	\$2,369.28
9	Location: Sheriff's Gun Range 1510 E. Langdon Road. Hutchins, Texas Size: 4 cu. yd. Frequency of Service: Two (2) times per week (TF)	12	month	\$14	8.80	\$1,785.60	\$14	14.10	\$1,729.20		\$98.72	\$1,184.64
10	Location: Southwest Institute of Forensic Sciences 2355 Stemmons Freeway Dallas, TexasHutchins, Texas Size: 8 cu. yd. Frequency of Service: Two (2) times per week (TF)	12	month	\$18	8.00	\$2,256.00	\$14	14.10	\$1,729.20		\$197.44	\$2,369.28
11	Location: Garland Government Center N. Garland Road, Garland, Texas Size: 8 cu. yd. Frequency of Service: Two (2) times per week (MW)	12	month	\$18	8.00	\$2,256.00	\$14	15.49	\$1,745.88		\$197.44	\$2,369.28
12	Location: Letot Residential Center 10503 Denton Drive, Dallas, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	6.80	\$4,761.60	\$3 <i>6</i>	50.26	\$4,323.12		\$493.60	\$5,923.20
13	Location: Letot Center 10505 Denton Dr., Dallas, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	6.80	\$4,761.60	\$3 <i>6</i>	50.26	\$4,323.12		\$493.60	\$5,923.20
14	Location: North Dallas Government Center 10056 Marsh Lane, Dallas, Texas Size: 8 cu. yd. Frequency of Service: Two (2) times per week (TF)	12	month	\$18:	8.00	\$2,256.00	\$14	44.10	\$1,729.20		\$197.44	\$2,369.28

TABULATION SHEET VENDOR #1 VENDOR #2 VENDOR #3 Bid No. 2018-035-6728 Community Waste Disposal, Progressive Waste Solutions Waste Management of Texas, LP of Texas, Inc. 2010 California Crossing 520 E Corporate Drive, Suite Term Contract for Commercial and Industrial Solid 12150 Garland Road Rd. 100 Waste/Refuse Collection and Disposal Services Dallas, TX 75220 Dallas, TX 75218 Lewisville, TX 75057 Dale Pound Scott Hunter Melanie Sanders Tel: 972-289-6714 Tel: 972-623-7277 Tel: 972-392-9300 Fax: 972-392-9301 Fax: 972-289-6723 Fax: 866-281-7431 Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-Recommended for Award 6304 // samuel.cooper@dallascounty.org **DESCRIPTION:** Est. Qty. **Unit Price** Extension **Unit Price** Extension **Unit Price** Extension 15 Location: East Government Center 12. \$92.80 \$1,113,60 \$54.04 \$648.48 \$74.04 \$888.48 month 3443 St. Francis, Dallas, Texas Size: 6 cu. yd. Frequency of Service: One (1) time per week (W) 16 Location: South Dallas Government Center 12 \$188.00 \$2,256.00 \$144.10 \$1,729.20 \$197.44 \$2,369.28 month 7201 S. Polk Street, Dallas, Texas Size: 8 cu. yd. Frequency of Service: Two (2) times per week (TF) 17 Location: Oak Cliff Sub Courthouse 12 \$168.80 \$2,025.60 \$108.08 \$1,296.96 \$148.08 \$1,776.96 month 408 South Beckley, Dallas, Texas Size: 6 cu. yd. Frequency of Service: Two (2) times per week (TF) 18 Location: Investment Building 12 \$168.80 \$2,025.60 \$108.08 \$1,296.96 \$148.08 \$1,776.96 month 414 South R. L. Thornton, Dallas, Texas Size: 6 cu. yd. Frequency of Service: Two (2) times per week (TF) 19 Location: Road & Bridge District 4 month \$188.00 \$2,256.00 \$144.10 \$1,729.20 \$197.44 \$2,369.28 4403 W. Illinois, Dallas, Texas Size: 8 cu. yd. Frequency of Service: Two (2) times per week (TF)

\$92.80

\$92.80

\$1,113.60

\$1,113.60

12

12

month

month

\$54.04

\$54.04

\$648.48

\$648.48

Location: Adult Probation - Coombs Creek

Frequency of Service: One (1) time per week (T)

Frequency of Service: One (1) time per week (T)

2726 Coombs Creek, Dallas, Texas

21 Location: Adult Probation - Cook Chill

2121 French Settlement, Dallas, Texas

Size: 6 cu. yd.

Size: 6 cu. yd.

\$74.04

\$74.04

\$888.48

\$888.48

TABULATION SHEET Bid No. 2018-035-6728 Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org DESCRIPTION: Est. 22 Location: Adult Probation - Jupiter 1137 Jupiter, Dallas, Texas Size: 4 cu. yd. Frequency of Service: One (1) time per week (W) 23 Location: Adult Probation - Zelrich 2627 Zelrich Lane, Dallas, Texas Size: 6 cu. yd. Frequency of Service: Two (2) times per week (TF)

VENDOR #1
Community Waste Disposal,
LP
2010 California Crossing
Rd.
Dallas, TX 75220
Dale Pound
Tel: 972-392-9300
Fax: 972-392-9301

VENDOR #2
Progressive Waste Solutions
of Texas, Inc.
12150 Garland Road
Dallas, TX 75218
Scott Hunter
Tel: 972-289-6714
Fax: 972-289-6723
Recommended for Award

VENDOR #3
Waste Management of Texas,
Inc.
520 E Corporate Drive, Suite
100
Lewisville, TX 75057
Melanie Sanders
Tel: 972-623-7277
Fax: 866-281-7431

	DESCRIPTION:	Est.	Qty.	Unit Price	Exte	ension	Unit Price	Exte	nsion	Unit Price	Exte	ension
22	Location: Adult Probation - Jupiter 1137 Jupiter, Dallas, Texas Size: 4 cu. yd. Frequency of Service: One (1) time per week (W)	12	month	\$8	0.80	\$969.60	\$.	36.03	\$432.36		\$49.36	\$592.32
23	Location: Adult Probation - Zelrich 2627 Zelrich Lane, Dallas, Texas Size: 6 cu. yd. Frequency of Service: Two (2) times per week (TF)	12	month	\$16	8.80	\$2,025.60	\$10	08.08	\$1,296.96		\$148.08	\$1,776.96
24	Location: JJAEP 1673 Terre Colony, Dallas, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	6.80	\$4,761.60	\$3	60.26	\$4,323.12		\$493.60	\$5,923.20
25	Location: Frank Crowley Courts Building 133 N. Riverfront Blvd., Dallas, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	6.80	\$4,761.60	\$31	60.26	\$4,323.12		\$493.60	\$5,923.20
26	Location: Frank Crowley Courts Building 133 N. Riverfront Blvd., Dallas, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	6.80	\$4,761.60	\$30	60.26	\$4,323.12		\$493.60	\$5,923.20
27	Location: Frank Crowley Courts Building 133 N. Riverfront Blvd., Dallas, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	6.80	\$4,761.60	\$31	60.26	\$4,323.12		\$493.60	\$5,923.20
28	Location: Frank Crowley Courts Building 133 N. Riverfront Blvd., Dallas, Texas Size: 8 cu. yd. Frequency of Service: Five (5) times per week (MTWTHF)	12	month	\$39	6.80	\$4,761.60	\$3(60.26	\$4,323.12		\$493.60	\$5,923.20

Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services

Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org

VENDOR #1 Community Waste Disposal, LP 2010 California Crossing Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301

VENDOR #2
Progressive Waste Solutions of Texas, Inc.

12150 Garland Road
Dallas, TX 75218
Scott Hunter
Tel: 972-289-6714

Recommended for Award

Fax: 972-289-6723

VENDOR #3
Waste Management of Texas, Inc.
520 E Corporate Drive, Suite 100
Lewisville, TX 75057
Melanie Sanders
Tel: 972-623-7277
Fax: 866-281-7431

	DESCRIPTION:	Est.	Qty.	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
29	Location: Road & Bridge District #2 715 Rowlett Road, Garland, Texas Size: 8 cu. yd. Frequency of Service: One (1) time per week (T)	12	month	\$106.40	\$1,276.80	\$72.05	\$864.60	\$98	.72 \$1,184.64
30	Location: Health & Human Services Clinic 2774 Valwood Parkway, Dallas, Texas Size: 6 cu. yd. Frequency of Service: Two (2) times per week (MW)	12	month	\$168.80	\$2,025.60	\$108.08	\$1,296.96	\$148	.08 \$1,776.96
31	Location: Fire Station 1937 S. Beltline, Dallas, Texas Size: 6 cu. yd. Frequency of Service: One (1) time per week (W)	12	month	\$92.80	\$1,113.60	\$54.04	\$648.48	\$74	04 \$888.48
32	Location: HSEM 2121 Panoramic Circle, Dallas, Texas Size: 6 cu. yd. Frequency of Service: One (1) time per week (F)	12	month	\$92.80	\$1,113.60	\$54.04	\$648.48	\$74	.04 \$888.48
33	Location: CSCD Probation 8425 Forney Road, Dallas, Texas Size: 6 cu. yd. Frequency of Service: One (1) time per week (W)	12	month	\$92.80	\$1,113.60	\$54.04	\$648.48	\$74	.04 \$888.48
34	Location: ASC 321 Northgate Drive, DeSoto, Texas Size: 8 cu. yd. Frequency of Service: Two (2) times per week (TF)	12	month	\$106.40	\$1,276.80	\$144.10	\$1,729.20	\$197	.44 \$2,369.28
35	Specify Cost for Extra Pick-Ups on a Per Call Basis Size: 8 Cu. Yd.	10	hauls	\$60.00	\$600.00	\$67.60	\$676.00	\$65	.00 \$650.00
36	Specify Cost for Extra Pick-Ups on a Per Call Basis Size: 6 Cu. Yd.	10	hauls	\$58.00	\$580.00	\$57.20	\$572.00	\$55	.00 \$550.00

	TABULATION SHEET Bid No. 2018-035-6728 Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org			VENDOR #1 Community Waste Disposal, LP 2010 California Crossing Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301			VENDOR #2 Progressive Waste Solutions of Texas, Inc. 12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723 Recommended for Award		VENDOR #3 Waste Management of Texas, Inc. 520 E Corporate Drive, Suite 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431 Unit Price Extension		
	DESCRIPTION:	Est.	Qty.	Unit Price		Extension	Unit Price	Extension	Unit Price	Extension	
37	Specify Cost for Extra Pick-Ups on a Per Call Basis Size: 4 Cu. Yd.	10	hauls		\$54.00	\$540.00	\$46.80	\$468.00	\$45.00	\$450.00	
38	Location: TBD DallasCounty has a 8 yd. Compactor not in service but may be added later. Pricing is requested to rent a container box only. Type and Size: Front Load Compactor, 8 cu. yds.	4	months	Negotiable			\$0.00	\$0.00	\$250.00	\$1,000.00	
39	Location: TBD DallasCounty has a 8 yd. Compactor not in service but may be added later. Pricing is requested to rent a container box only. Type and Size: Front Load Compactor, 8 cu. yds.	4	months		\$268.25	\$1,073.00	\$216.15	5 \$864.60	\$296.17	\$1,184.68	
40	Location: TBD DallasCounty has a 8 yd. Compactor not in service but may be added later. Pricing is requested to rent a container box only. Type and Size: Front Load Compactor, 8 cu. yds.	4	months	Negotiable			\$0.00	\$0.00	\$250.00	\$1,000.00	
41	Location: TBD DallasCounty has a 8 yd. Compactor not in service but may be added later. Type and Size: Front Load Compactor, 8 cu. yds.	4	hauls		\$268.25	\$1,073.00	\$216.15	5 \$864.60	\$296.17	\$1,184.68	
42	Location: TBD DallasCounty has a 8 yd. Compactor not in service but may be added later. Type and Size: Front Load Compactor, 8 cu. yds. Specify the cost to move the 8 cu. yd. compactor from the Elections Warehouse to new site location within Dallas County.	1	each	Negotiable				\$2,000.00		\$675.00	
43	Location: TBD DallasCounty has a 8 yd. Compactor not in service but may be added later. Type and Size: Front Load Compactor, 8 cu. yds. Specify the cost to move the 8 cu. yd. compactor from the Elections Warehouse to new site location within Dallas County.	1	each	Negotiable				\$2,000.00		\$675.00	

Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services

Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org **DESCRIPTION:** Est. Qty. 44 Type and Size: 6 cu. yd. Front load container 25 each Type of Service: Daily (24 hour period) Container Rental Charge **45** Type and Size: 6 cu. yd. Front load container 25 each Type of Service: Monthly (28 or more consecutive days) Container Rental Charge 46 Type and Size: 6 cu. yd. Front load container 25 each Type of Service: Delivery and Pick-Up Charge 47 Type and Size: 6 cu. yd. Front load container 100 hauls Type of Service: Haul and Disposal Charge 48 Type and Size: 8 cu. yd. Front load container 30 each Type of Service: Daily (24 hour period) Container Rental Charge 49 Type and Size: 8 cu. yd. Front load container 30 each Type of Service: Monthly (28 or more consecutive days) Container Rental Charge Type and Size: 8 cu. yd. Front load container each Type of Service: Delivery and Pick-Up Charge 51 Type and Size: 8 cu. yd. Front load container 120 hauls Type of Service: Haul and Disposal Charge 52 Type and Size: 8 cu. yd. Flexible Lid Front load container each Type of Service: Daily (24 hour period) Container Rental Charge 53 Type and Size: 8 cu. yd. Flexible Lid Front load container each Type of Service: Monthly (28 or more consecutive days) Container Rental Charge

54 Type and Size: 8 cu. yd. Flexible Lid Front load container

Type of Service: Delivery and Pick-Up Charge

2

each

VENDOR #1

Community Waste Disposal, LP

2010 California Crossing

Rd.

Dallas, TX 75220 Dale Pound

Tel: 972-392-9300 Fax: 972-392-9301

VENDOR #2

Progressive Waste Solutions of Texas, Inc.

12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723

Recommended for Award

VENDOR #3

Waste Management of Texas,

520 E Corporate Drive, Suite 100

Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277

Fax: 866-281-7431

		Recommended for Award			
Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
\$5.00	\$125.00	\$0.00	\$0.00	\$0.00	\$0.00
\$100.00	\$2,500.00	\$56.29	\$1,407.25	\$50.00	\$1,250.00
\$55.00	\$1,375.00	\$168.87	\$4,221.75	\$50.00	\$1,250.00
\$58.00	\$5,800.00	\$45.03	\$4,503.00	\$55.00	\$5,500.00
\$5.00	\$150.00	\$0.00	\$0.00	\$0.00	\$0.00
\$100.00	\$3,000.00	\$56.29	\$1,688.70	\$50.00	\$1,500.00
\$55.00	\$1,650.00	\$168.87	\$5,066.10	\$50.00	\$1,500.00
\$60.00	\$7,200.00	\$56.29	\$6,754.80	\$65.00	\$7,800.00
\$5.00	\$10.00	\$56.29	\$112.58	\$0.00	\$0.00
\$100.00	\$200.00	\$56.29	\$112.58	\$50.00	\$100.00
\$55.00	\$110.00	\$168.87	\$337.74	\$50.00	\$100.00
Page	7			2018-035-67	28 Trash Disp

	TABULATION SHEET			VENDO	D #1			VENDOR #2			VENDOR #3		
	Bid No. 2018-035-6728				ity Waste l	Disposal,		Progressive Waste Sol of Texas, Inc.	lutions		Waste Management of Inc.	Texas,	
	Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services			2010 Cali Rd. Dallas, Ti Dale Pour Tel: 972-	nd 392-9300	ossing		12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714			520 E Corporate Drive, 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431	, Suite	
	Buyer: Sam Cooper, C.T.P.M . Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org			Fax: 972-	392-9301			Fax: 972-289-6723 Recommended for A	Award		Fax: 800-281-7431		
	DESCRIPTION:	Est.	Qty.	ī	Unit Price	:	Extension	Unit Price		Extension	Unit Price	E	Extension
55	Type and Size: 8 cu. yd. Flexible Lid Front load container Type of Service: Haul and Disposal Charge	8	hauls			\$60.00	\$480.00		\$56.29	\$450.32	:	\$65.00	\$520.00
	Specify the lead time for ordering and delivery of front load containers/days			2 days							3-5 days		
	Total - Section 1						\$113,778.00			\$102,150.86			\$122,845.20
	Section 2 - Leased/Rented - Compactors/Containers												
56	Location: Food Establishment Facility Cook Chill Facility - 2121 French Settlement, Dallas, Texas Type and Size: Self Contained Compactor, 35 Cu. Yd.	12	month			\$295.00	\$3,540.00		\$338.00	\$4,056.00	\$:	250.00	\$3,000.00
57	Location: Food Establishment Facility Cook Chill Facility - 2121 French Settlement, Dallas, Texas Type and Size: Self Contained Compactor, 35 Cu. Yd.	104	hauls			\$344.00	\$35,776.00	s	\$301.60	\$31,366.40	\$.	370.00	\$38,480.00
58	Location: South Tower 111 Commerce Street @ Justice Center, Dallas, Texas Type and Size: Open Top/Roll Off Container, 30 Cu. Yd.	12	month			\$49.00	\$588.00		\$93.60	\$1,123.20	\$	100.00	\$1,200.00
59	Location: South Tower 111 Commerce Street @ Justice Center, Dallas, Texas Type and Size: Open Top/Roll Off Container, 30 Cu. Yd.	312	hauls			\$287.25	\$89,622.00	s	\$260.00	\$81,120.00	\$.	345.00	\$107,640.00
60	Location: Recycle/Public Service Center 2121 Panoramic, Dallas, Texas Type and Size: Open Top/Roll Off Container, 30 Cu. Yd.	12	month			\$49.00	\$588.00		\$93.60	\$1,123.20	\$	100.00	\$1,200.00
61	Location: Recycle/Public Service Center 2121 Panoramic, Dallas, Texas Type and Size: Open Top/Roll Off Container, 30 Cu. Yd.	18	hauls			\$303.35	\$5,460.30		\$260.00	\$4,680.00	\$.	345.00	\$6,210.00
62	Location: Recycle/Public Service Center 2121 Panoramic, Dallas, Texas Type and Size: Open Top/Roll Off Container, 30 Cu. Yd.	12	month			\$49.00	\$588.00		\$93.60	\$1,123.20	\$	100.00	\$1,200.00
						Page	e 8				2018-0	35-672	8 Trash Disp

Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services

Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-

	6304 // samuel.cooper@dallascounty.org		
	DESCRIPTION:	Est.	Qty.
63	Location: Recycle/Public Service Center 2121 Panoramic, Dallas, Texas Type and Size: Open Top/Roll Off Container, 30 Cu. Yd.	18	hauls
64	Location: Henry Wade Juvenile Justice Center 2600 Lone Star Drive, Dallas, Texas Type and Size: Self Contained Compactor w/ power pack, 220V, 3 phase, 35 Cu. Yd.	12	month
65	Location: Henry Wade Juvenile Justice Center 2600 Lone Star Drive, Dallas, Texas Type and Size: Self Contained Compactor w/ power pack, 220V, 3 phase, 35 Cu. Yd.	104	hauls
66	Specify Charge (if any) for Non-Scheduled/Emergency Pick-Up and Disposal	30	hauls
67	Excess Tonnage Charge for Compactors and Roll-Off Containers (if any or applicable)	65	tons
68	Specify Additional Charge (if any) for waiting delays beyond fifteen (15) minutes		
69	10-15 Cu. Yd. Temporary Roll-Off Container Type of Service: Daily (24 hr. period) Container Rental Charge	5	each
70	10-15 Cu. Yd. Temporary Roll-Off Container Type of Service: Monthly (28 or more consecutive days) Container Rental Charge	5	each
71	10-15 Cu. Yd. Temporary Roll-Off Container Type of Service: Delivery and Pick-Up Charge	5	each
72	10-15 Cu. Yd. Temporary Roll-Off Container Type of Service: Haul and Disposal Charge	20	hauls

VENDOR #1 VENDOR #2

Community Waste Disposal, Progressive Waste Solutions of Texas, Inc.

LP Rd.

Dallas, TX 75220 Dale Pound Tel: 972-392-9300

2010 California Crossing

Tel: 972-289-6714 Fax: 972-392-9301 Fax: 972-289-6723

Red

12150 Garland Road

Dallas, TX 75218

Scott Hunter

VENDOR #3

Waste Management of Texas,

520 E Corporate Drive, Suite 100

Lewisville, TX 75057 Melanie Sanders

Tel: 972-623-7277 Fax: 866-281-7431

|--|

Unit Price I	Extension	Unit Price Extension Unit Price		Unit Price	Extension
\$303.35	\$5,460.30	\$260.00	\$4,680.00	\$345.00	\$6,210.00
\$295.00	\$3,540.00	\$338.00	\$4,056.00	\$250.00	\$3,000.00
\$333.50	\$34,684.00	\$301.60	\$31,366.40	\$370.00	\$38,480.00
\$318.75	\$9,562.50	\$260.00	\$7,800.00	\$345.00	\$10,350.00
\$25.25	\$1,641.25	\$31.20	\$2,028.00	\$28.00	\$1,820.00
\$100.00		\$0.00		\$100.00	
\$5.00	\$25.00	\$0.00	\$0.00	\$0.00	\$0.00
\$49.00	\$245.00	\$93.60	\$468.00	\$100.00	\$500.00
\$75.00	\$375.00	\$104.00	\$520.00	\$125.00	\$625.00
\$268.25	\$5,365.00	\$281.45	\$5,629.00	\$345.00	\$6,900.00
Page	9			2018-035-672	28 Trash Dispusal

Term Contract for Commercial and Industrial Solid

Waste/Refuse Collection and Disposal Services Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org **DESCRIPTION:** Est. Qty. 73 20 Cu. Yd. Temporary Roll-Off Container 5 each Type of Service: Daily (24 hr. period) Container Rental Charge 74 20 Cu. Yd. Temporary Roll-Off Container 5 each Type of Service: Monthly (28 or more consecutive days) Container Rental Charge 75 20 Cu. Yd. Temporary Roll-Off Container 5 each Type of Service: Delivery and Pick-Up Charge 76 20 Cu. Yd. Temporary Roll-Off Container 20 hauls Type of Service: Haul and Disposal Charge 77 30 Cu. Yd. Temporary Roll-Off Container 35 each Type of Service: Daily (24 hr. period) Container Rental Charge 78 30 Cu. Yd. Temporary Roll-Off Container each Type of Service: Monthly (28 or more consecutive days) Container Rental Charge 79 30 Cu. Yd. Temporary Roll-Off Container 35 each Type of Service: Delivery and Pick-Up Charge 30 Cu. Yd. Temporary Roll-Off Container 140 hauls Type of Service: Haul and Disposal Charge 81 40 Cu. Yd. Temporary Roll-Off Container 5 each Type of Service: Daily (24 hr. period) Container Rental Charge 82 40 Cu. Yd. Temporary Roll-Off Container each Type of Service: Monthly (28 or more consecutive days) Container Rental Charge 83 40 Cu. Yd. Temporary Roll-Off Container 5 each

Type of Service: Delivery and Pick-Up Charge

VENDOR #1

Community Waste Disposal, LP

Page 10

2010 California Crossing Rd.

Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301

VENDOR #2

Progressive Waste Solutions of Texas, Inc.

12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723

Recommended for Award

VENDOR #3

Waste Management of Texas,

520 E Corporate Drive, Suite 100

2018-035-6728 Trash Disposal

Lewisville, TX 75057 Melanie Sanders

Tel: 972-623-7277 Fax: 866-281-7431

Unit Price E	Extension	Unit Price	Extension	Unit Price I	Extension
\$5.00	\$25.00	\$0.00	\$0.00	\$0.00	\$0.00
\$49.00	\$245.00	\$93.60	\$468.00	\$100.00	\$500.00
\$75.00	\$375.00	\$104.00	\$520.00	\$125.00	\$625.00
\$293.50	\$5,870.00	\$281.45	\$5,629.00	\$345.00	\$6,900.00
\$5.00	\$175.00	\$0.00	\$0.00	\$0.00	\$0.00
\$49.00	\$1,715.00	\$93.60	\$3,276.00	\$100.00	\$3,500.00
\$75.00	\$2,625.00	\$104.00	\$3,640.00	\$125.00	\$4,375.00
\$318.75	\$44,625.00	\$337.74	\$47,283.60	\$345.00	\$48,300.00
\$5.00	\$25.00	\$0.00	\$0.00	\$0.00	\$0.00
\$79.00	\$395.00	\$93.60	\$468.00	\$100.00	\$500.00
\$75.00	\$375.00	\$104.00	\$520.00	\$125.00	\$625.00

	TABULATION SHEET Bid No. 2018-035-6728			VENDOR #1 Community Waste	Disposal,		VENDOR #2 Progressive Waste Solution	ons	Was	NDOR #3 ste Management	of Texas,	
	Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services			LP 2010 California Cr Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301	-		of Texas, Inc. 12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723		100 Lew Mela Tel:	E Corporate Drivisville, TX 7505 anie Sanders 972-623-7277 866-281-7431		
	Buyer: Sam Cooper, C.T.P.M . Contracts Specialist (214) 653-6304 $\#$ samuel.cooper@dallascounty.org						Recommended for Awar	rd				
	DESCRIPTION:	Est.	Qty.	Unit Pric	e E	xtension	Unit Price	Extension		Unit Price	E	ktension
84	40 Cu. Yd. Temporary Roll-Off Container Type of Service: Haul and Disposal Charge	20	hauls		\$369.25	\$7,385.00	\$33	7.74 \$6,75	4.80		\$365.00	\$7,300.00
85	Food Establishment 35 Cu. Yd. Self Contained Full Enclosed Compactor Type of Service: Daily (24 hr. period) Container Rental Charge	2	each	Negotiable			N/A				\$0.00	\$0.00
86	Food Establishment 35 Cu. Yd. Self Contained Full Enclosed Compactor Type of Service: Monthly (28 or more consective days) Container Rental Charge	2	each		\$295.00	\$590.00	N/A				\$250.00	\$500.00
87	Food Establishment 35 Cu. Yd. Self Contained Full Enclosed Compactor Type of Service: Delivery and Pick-Up Charge	2		Negotiable			N/A				\$675.00	\$1,350.00
88	Food Establishment 35 Cu. Yd. Self Contained Full Enclosed Compactor Type of Service: Haul and Disposal Charge	8	hauls		\$344.00	\$2,752.00	N/A				\$370.00	\$2,960.00
89	30 Cu. Yd. Self Contained Compactor Type of Service: Daily (24 hr. period) Container Rental Charge	2	each	Negotiable			N/A				\$0.00	\$0.00
90	30 Cu. Yd. Self Contained Compactor Type of Service: Monthly (28 or more consective days) Container Rental Charge	2	each		\$229.00	\$458.00	N/A				\$250.00	\$500.00
91	30 Cu. Yd. Self Contained Compactor Type of Service: Delivery and Pick-Up Charge	2	each	Negotiable			N/A				\$675.00	\$1,350.00
92	30 Cu. Yd. Self Contained Compactor Type of Service: Haul and Disposal Charge	8	hauls		\$318.75	\$2,550.00	N/A				\$370.00	\$2,960.00

TABULATION SHEET Bid No. 2018-035-6728		VENDOR #1 Community Waste 1	Disposal,	VENDOR #2 Progressive Waste Solutions	VENDOR #3 Waste Management of Texas,	
Term Contract for Commercial and In Waste/Refuse Collection and Disposal		LP 2010 California Cro Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301	ossing	of Texas, Inc. 12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723	Inc. 520 E Corporate Drive, Suite 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431	
Buyer: Sam Cooper, C.T.P.M. Contra 6304 // samuel.cooper@dallascounty.or				Recommended for Award		
DESCRIPTION:	Est. Qty.	Unit Price	e Extension	Unit Price Extension	Unit Price E	xtension
93 35 Cu. Yd. Self Contained Compactor Type of Service: Daily (24 hr. period) Co	1 each ntainer Rental Charge	Negotiable		N/A	\$0.00	\$0.00
94 35 Cu. Yd. Self Contained Compactor Type of Service: Monthly (28 or more con Rental Charge	1 each nsective days) Container		\$295.00 \$295.00	N/A	\$250.00	\$250.00
95 35 Cu. Yd. Self Contained Compactor Type of Service: Delivery and Pick-Up C	1 each harge	Negotiable		N/A	\$675.00	\$675.00
96 35 Cu. Yd. Self Contained Compactor Type of Service: Haul and Disposal Char	4 hauls		\$344.00 \$1,376.00	N/A	\$370.00	\$1,480.00
97 40 Cu. Yd. Self Contained Compactor Type of Service: Daily (24 hr. period) Co	1 each ntainer Rental Charge	Negotiable		N/A	\$0.00	\$0.00
98 40 Cu. Yd. Self Contained Compactor Type of Service: Monthly (28 or more con Rental Charge	1 each nsective days) Container	Negotiable		N/A	\$275.00	\$275.00
99 40 Cu. Yd. Self Contained Compactor Type of Service: Delivery and Pick-Up C	1 each harge	Negotiable		N/A	\$675.00	\$675.00
100 40 Cu. Yd. Self Contained Compactor Type of Service: Haul and Disposal Char	4 hauls ge		\$369.25 \$1,477.00	N/A	\$400.00	\$1,600.00
101 42 Cu. Yd. Self Contained Compactor Type of Service: Daily (24 hr. period) Co	1 each ntainer Rental Charge	Negotiable		N/A	\$0.00	\$0.00
102 42 Cu. Yd. Self Contained Compactor Type of Service: Monthly (28 or more con Rental Charge	1 each nsective days) Container	Negotiable		N/A	\$275.00	\$275.00

	TABULATION SHEET Bid No. 2018-035-6728			VENDOR #1 Community Waste D	isposal,		VENDOR #2 Progressive Waste Solutions		VENDOR #3 Waste Management	t of Texas,	
	Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services			LP 2010 California Cross Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301	sing		of Texas, Inc. 12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723		Inc. 520 E Corporate Dr 100 Lewisville, TX 750. Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431		
	Buyer: Sam Cooper, C.T.P.M . Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org						Recommended for Award				
	DESCRIPTION:	Est.	Qty.	Unit Price		Extension	Unit Price	Extension	Unit Price	e Ex	ktension
103	42 Cu. Yd. Self Contained Compactor Type of Service: Delivery and Pick-Up Charge	1	each	Negotiable			N/A			\$675.00	\$675.00
104	42 Cu. Yd. Self Contained Compactor Type of Service: Haul and Disposal Charge	4	hauls	:	\$369.25	\$1,477.00	N/A			\$400.00	\$1,600.00
	Specify the lead time for ordering and delivery of tempory container:			2 days			1-2 days		1 day		
	Specify the lead time for ordering and delivery of compactor container:/days			Negotiable			N/A		7 days		
	Total - Section 2					\$271,870.35		\$249,698.80			\$316,565.00
	Section 3 - County Owned Compactors (Service Only)										
105	Food Establishment Facility, George Allen Courts Building 600 Commerce Street, Dallas, Texas Type and Size: 20/22 cu. yd. custom compactor	104	hauls	:	\$276.75	\$28,782.00	\$301.6	0 \$31,366.40		\$370.00	\$38,480.00
106	Criminal Courts Building/Records Building (presently being remodeled, expected reopening in 2020) 501 Main Street @ N Houston, Dallas, Texas Type and Size: 18/20 cu. yd. custom compactor	104	hauls	:	\$282.35	\$29,364.40	\$301.6	0 \$31,366.40		\$370.00	\$38,480.00
107	Health and Human Services Building 2377 Stemmons Freeway, Dallas, Texas Type and Size: Container Box for custom compactor -Rental only	12	months	Negotiable			\$0.0	0 \$0.00		\$150.00	\$1,800.00
108	Health and Human Services Building 2377 Stemmons Freeway, Dallas, Texas Type and Size: Stationary Compactor	27	hauls	:	\$385.75	\$10,415.25	\$301.6	0 \$8,143.20		\$400.00	\$10,800.00
109	Food Establishment Facility- North Tower Jail Facility 111 Commerce Street @ Justice Center, Dallas, Texas Type and Size: 35 cu. yd. self contained trash compactor	108	hauls	:	\$312.50	\$33,750.00	\$301.6	0 \$32,572.80		\$370.00	\$39,960.00
					_	10			004	0.005.0700	

TABULATION SHEET VENDOR #1 VENDOR #2 VENDOR #3 Bid No. 2018-035-6728 Community Waste Disposal, Progressive Waste Solutions Waste Management of Texas, LP of Texas, Inc. 2010 California Crossing 520 E Corporate Drive, Suite Term Contract for Commercial and Industrial Solid Rd. 12150 Garland Road 100 Waste/Refuse Collection and Disposal Services Dallas, TX 75220 Dallas, TX 75218 Lewisville, TX 75057 Dale Pound Scott Hunter Melanie Sanders Tel: 972-392-9300 Tel: 972-289-6714 Tel: 972-623-7277 Fax: 972-392-9301 Fax: 972-289-6723 Fax: 866-281-7431 Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-Recommended for Award 6304 // samuel.cooper@dallascounty.org **DESCRIPTION:** Est. Qty. **Unit Price Unit Price Unit Price** Extension Extension Extension \$312.50 \$301.60 \$32,572.80 \$370.00 \$39,960.00 110 Food Establishment Facility- North Tower Jail Facility 108 hauls \$33,750.00 111 Commerce Street @ Justice Center, Dallas, Texas Type and Size: 35 cu. yd. self contained trash compactor 111 Specify Charge (if any) for Non-Scheduled /Emergency Pick-Up and 20 hauls \$318.75 \$6,375.00 \$301.60 \$6,032.00 \$345.00 \$6,900.00 Size: 30 cu. yd. Open Top/Roll Off Container 112 Specify Charge (if any) for Non-Scheduled /Emergency Pick-Up and 5 hauls \$293.50 \$1,467.50 \$301.60 \$1,508.00 \$370.00 \$1,850.00 Disposal Size: 18-22 cu. yd. Compactor 113 Specify Charge (if any) for Non-Scheduled /Emergency Pick-Up and 15 \$344.00 \$5,160.00 \$301.60 \$4,524.00 \$370.00 \$5,550.00 Disposal Size: 35 cu. yd. Compactor 114 Specify Charge (if any) for Non-Scheduled /Emergency Pick-Up and 2 hauls \$369.25 \$738.50 \$301.60 \$603.20 \$400.00 \$800.00 Disposal Size: 40-42 cu. yd. Compactor 115 Excess Tonnage Charge for Compactors and Roll-Off Containers (if 65 \$25.00 \$1,625.00 \$31.20 \$2,028.00 \$28.00 \$1,820.00 any or applicable) 116 Specify additional Charge (if any) for waiting/delays beyond fifteen \$100.00 \$0.00 \$0.00 \$100.00 (15) minutes Total - Section 3 \$151,427.65 \$150,716.80 \$186,400.00 Section 4 - Leased/Rented Compactors/Containers 117 Household Hazardous Waste - Home Chemical Collection Center 12 months \$295.00 \$3,540.00 \$338.00 \$4,056.00 \$250.00 \$3,000.00 11234 Plano Road, Dallas, Texas

35 yd.

35 Cu. Yd.

Type and Size: Self Contained Compactor, 35 cu. yds.

Specify Size Being Proposed:

35 cu. yd.

TABULATION SHEET			VENDOR #1			VENDOR #2		VENDOR #3	
Bid No. 2018-035-6728			Community Waste Dis	sposal,		Progressive Waste Solutions of Texas, Inc.		Waste Management of Texa	,
Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services			2010 California Cross Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301	sing		12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723		Inc. 520 E Corporate Drive, Suite 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431	
Buyer: Sam Cooper, C.T.P.M . Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org						Recommended for Award			
DESCRIPTION:	Est.	Qty.	Unit Price	E	Extension	Unit Price	Extension	Unit Price	Extension
118 Household Hazardous Waste - Home Chemical Collection Center 11234 Plano Road, Dallas, Texas Type and Size: Self Contained Compactor, 35 cu. yds.	104	hauls	\$	\$328.60	\$34,174.40	\$301.6	0 \$31,366.40	\$570.C	\$59,280.00
Specify Size Being Proposed:			35 Cu. Yd.			35 yd.		35 cu. yd.	
119 Specify Charge (if any) for Non-Scheduled/Emergency Pick-Up and Disposal Size: 30 cu. yd. Open Top Roll Off Container	10	hauls	\$	\$303.35	\$3,033.50	\$260.0	0 \$2,600.00	\$545.C	\$5,450.00
120 Specify Charge (if any) for Non-Scheduled/Emergency Pick-Up and Disposal Size: 35 cu. yd. Compactor	2	hauls	\$	\$328.60	\$657.20	\$301.6	0 \$603.20	\$570.0	31,140.00
121 30 Cu. Yd. Tempory Roll-Off ContainerType of Service: Daily (24 hr. period) Container Rental Charge	15	each		\$1.75	\$26.25	\$0.0	0 \$0.00	\$0.0	90.00
122 30 Cu. Yd. Tempory Roll-Off Container Type of Service: Monthly (28 or more consective days) Container Rental Charge	15	each		\$49.00	\$735.00	\$93.6	0 \$1,404.00	\$100.0	\$1,500.00
123 30 Cu. Yd. Tempory Roll-Off Container Type of Service: Delivery and Pick-Up Charge	15	each		\$75.00	\$1,125.00	\$104.0	0 \$1,560.00	\$125.0	\$1,875.00
124 30 Cu. Yd. Tempory Roll-Off Container Type of Service: Haul and Disposal Charge	60	hauls	\$	\$303.35	\$18,201.00	\$260.0	0 \$15,600.00	\$345.0	\$20,700.00
Specify the lead time for ordering and delivery of temporary container:								1 day	
Specify the lead time for ordering and delivery of compactor container:								7 days	
125 Excess Tonnage Charge for Compactors and Roll-Off Containers	65	tons		\$25.25	\$1,641.25	\$31.2	0 \$2,028.00	\$28.0	\$1,820.00
126 Specify Additional Charge (if any) for waiting/delays beyond 15 minutes			s	\$100.00		\$0.0	0	\$100.0)
				Page 1	15			2018-035-6	728 Trash Dispos

TABULATION SHEET Bid No. 2018-035-6728 Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org		VENDOR #1 Community Waste Disposal LP 2010 California Crossing Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301	,	VENDOR #2 Progressive Waste Solutions of Texas, Inc. 12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723 Recommended for Award		VENDOR #3 Waste Management of Terlinc. 520 E Corporate Drive, Su 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431	
DESCRIPTION: Est.	Qty.	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
Total - Section 4			\$63,133.60		\$59,217.60		\$94,765.00
Section 5 - Portable Toilets							
127 Special Event Portable Toilets (never been used on construction site) 5 Type of Service: Rental Charge per day Usage: 1-5	each	No Bid		\$86.00	\$430.00	No Bid	
128 Special Event Portable Toilets (never been used on construction site)5 Type of Service: One-Time Delivery and Pick-Up Charge for item127 listed above.	each	No Bid		\$36.00	\$180.00	No Bid	
 129 Special Event Portable Toilets (never been used on construction site) 10 Type of Service: Rental Charge per day Usage: 6-10 	each	No Bid		\$86.00	\$860.00	No Bid	
 130 Special Event Portable Toilets (never been used on construction site) 10 Type of Service: One-Time Delivery and Pick-Up Charge for item 129 listed above. 	each	No Bid		\$36.00	\$360.00	No Bid	
 131 Special Event Portable Toilets (never been used on construction site) 15 Type of Service: Rental Charge per day Estimated Usage: 11-15 	each	No Bid		\$86.00	\$1,290.00	No Bid	
132 Special Event Portable Toilets (never been used on construction site) 15Type of Service: One-Time Delivery and Pick-Up Charge for item 131 listed above.	each	No Bid		\$36.00	\$540.00	No Bid	
133 Special Event Portable Toilets (never been used on construction site) 20 Type of Service: Rental Charge per day Usage: 16-20 Estimated	each	No Bid		\$86.00	\$1,720.00	No Bid	
134 Special Event Portable Toilets (never been used on construction site) 20 Type of Service: One-Time Delivery and Pick-Up Charge for item 133 listed above.	each	No Bid		\$36.00	\$720.00	No Bid	

TABULATION SHEET Bid No. 2018-035-6728		VENDOR #1 Community Waste Disposal, LP		VENDOR #2 Progressive Waste Solutions of Texas, Inc.		VENDOR #3 Waste Management of Texas, Inc.	
Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-		2010 California Crossing Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301		12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723 Recommended for Award		520 E Corporate Drive, Suite 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431	
6304 // samuel.cooper@dallascounty.org							
DESCRIPTION: Est.	Qty.	Unit Price Extension	١	Unit Price	Extension	Unit Price I	Extension
135 Special Event Portable Toilets (never been used on construction site) 21 Type of Service: Rental Charge per day Usage: 21+	each	No Bid		\$86.00	\$1,806.00	No Bid	
136 Special Event Portable Toilets (never been used on construction site) 21 Type of Service: One-Time Delivery and Pick-Up Charge for item 135 listed above.	each	No Bid		\$36.00	\$756.00	No Bid	
137 Special Event Handicapped Portable Toilets (never been used on construction site) Type of Service: Rental Charge per day Usage: 1-5	each	No Bid		\$145.00	\$725.00	No Bid	
138 Special Event Handicapped Portable Toilets (never been used on construction site) Type of Service: One-Time Delivery and Pick-Up Charge for item 137 listed above.	each	No Bid		\$36.00	\$180.00	No Bid	
Specify the lead time for ordering and delivery of all types of portable toilets				2-3 days			
Total - Section 5			\$0.00		\$9,567.00		\$0.00
Grand Total Optional Services as requested/as needed:		\$600,2	209.60		\$571,351.06		\$720,575.20
139 Interior and Exterior of Dumpsters and/or Compactors Type of Service: Power Washing		\$200.00		\$400.00		\$225.00	
140 Power washing of interior and exterior of compactor and disassemble to clean excess buildup from behind cylinder Type of service: Detail Cleaning		Negotiable		\$400.00		\$500.00	
141 Compactor Maintenance for County Owned Compactors Only (if available) \$/per hour + parts, materials, supplies, etc.		\$50.00		\$110.00		\$85.00	
Specify the minimum billable service hours (if any) required for Compactor maintenance		4 hours		2 hours		4 hours	
		Page 17				2018-035-672	28 Trash Dispusal

TABULATION SHEET VENDOR #3 VENDOR #1 VENDOR #2 Bid No. 2018-035-6728 Community Waste Disposal, Progressive Waste Solutions Waste Management of Texas, LP of Texas, Inc. 2010 California Crossing 520 E Corporate Drive, Suite Term Contract for Commercial and Industrial Solid Rd. 12150 Garland Road 100 Waste/Refuse Collection and Disposal Services Dallas, TX 75220 Dallas, TX 75218 Lewisville, TX 75057 Dale Pound Scott Hunter Melanie Sanders Tel: 972-289-6714 Tel: 972-623-7277 Tel: 972-392-9300 Fax: 972-392-9301 Fax: 972-289-6723 Fax: 866-281-7431 Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-Recommended for Award 6304 // samuel.cooper@dallascounty.org **DESCRIPTION:** Est. Qty. **Unit Price** Extension **Unit Price** Unit Price Extension Extension Specify any additional comments, deviations, cost, etc. included with Deviations Attached Temporary compactors are your bid proposal, if applicable: not available., thus, we have input N/A for those sections. Portable toilets are per use -Example: 1-3 days will be the same price regardless. List any special resources, skills or services which the firm offers N/A that are not specifically addressed in this solicitation, but would be available as part of an agreement with your firm. MMG Building & Should your firm be awarded this contract, describe what (if any) Construction Services LLC portion of the bid requirements will be subcontracted out Specify Prompt/Early Payment Discount Terms (if any) 0%, 30 days N/A% N/A days ____% _____Days Primary Contact Person: Jason Roemer Marla Hudgens Melanie Sanders Telephone Number and Email Address: Tel: 972-392-9300 ext. 322 Tel: 972-289-6714 Tel: 972-623-7277 Email: jroemer@cwd.to E-mail: marla @waste E-mail: msanders@wm.com connections.com Back-Up Contact Person: Greg Roemer Scott Hunter Andrea Boneberger Tel: 972-289-6714 Telephone Number and Email Address Tel: 972-392-9300 ext. 208 Tel: 214-513-8675 E-mail: aboneenbe@wm.com Email: groemer@cwd.to Email: scott.hunter@waste connections.com Written Notices Address: Contact Person: Jason Roemer Scott Hunter Melanie Sanders Tel: 972-392-9300 ext. 322 Tel: 972-289-6714 Tel: 972-623-7277 Email: jroemer@cwd.to E-mail: msanders@wm.com Email: scott.hunter@waste connections.com Telephone Number and Email Address Address: 2010 California Crossing 12150 Garland Road 520 E Corporate Dr., Suite City, State and Zip Code: Dallas, TX 75220 Dallas, TX 75218 Lewisville, TX 75057

VENDOR #3 TABULATION SHEET VENDOR #1 VENDOR #2 Bid No. 2018-035-6728 Community Waste Disposal, Progressive Waste Solutions Waste Management of Texas, LP of Texas, Inc. 2010 California Crossing 520 E Corporate Drive, Suite Term Contract for Commercial and Industrial Solid Rd. 12150 Garland Road 100 Waste/Refuse Collection and Disposal Services Dallas, TX 75220 Dallas, TX 75218 Lewisville, TX 75057 Dale Pound Melanie Sanders Scott Hunter Tel: 972-289-6714 Tel: 972-623-7277 Tel: 972-392-9300 Fax: 972-392-9301 Fax: 972-289-6723 Fax: 866-281-7431 Buyer: Sam Cooper, C.T.P.M. Contracts Specialist (214) 653-Recommended for Award 6304 // samuel.cooper@dallascounty.org **DESCRIPTION:** Est. Qty. **Unit Price** Extension **Unit Price Unit Price** Extension Extension Cooperative Purchasing: Should other Governmental Entities decide No No No to participate in this contract, would you agree that all terms, conditions, specifications and pricing would apply to that entity? Yes _____ No ____ Is a copy of your company contingency plan included with your Yes Yes Yes proposal? Yes _____ No ____ Did Vendor provide a Truck/Vehicle Inventory Listing? Yes Yes Yes Yes _____ No ____ List all of the landfill facilities and transfer stations that will be utilized under this contract: Name of Disposal Facility, address, city and state and telephone McCommas Bluff Landfill, McCommas Bluff Landfill, Skyline Landfill 5100 Youngblood Rd. Dallas, 5100 Youngblood Rd. Dallas, 1201 N. Central Avenue TX 214-670-0977 TX 214-670-0977 Ferris, TX 75125 972-842-5800 Name of Disposal Facility, address, city and state and telephone Dallas/Fort Worth (DFW) Skyline Landfill Dallas/Fort Worth (DFW) 1201 N. Central Avenue Landfill 1600 S. Railroad St. number Landfill 1600 S. Railroad St. Lewisville, TX 972-316-2255 Lewisville, TX 713-647-5459 Ferris, TX 75125 866-909-4458 Name of Disposal Facility, address, city and state and telephone Arlington Landfill Dallas/Fort Worth (DFW) number 800 Mosier Valley Rd. Landfill 1600 S. Railroad St. Arlngton, TX 817-354-2300 Lewisville, TX 713-647-5459 City of Irving - Hunter Ferrell Name of Disposal Facility, address, city and state and telephone number Landfill 1098 E. Hunter Ferrell Road Irving, TX 75060 972-721-7322

TABULATION SHEET Bid No. 2018-035-6728	Community Waste Disposal,		VENDOR #2 Progressive Waste Solutions of Texas, Inc.		VENDOR #3 Waste Management of Texas, Inc.		
Term Contract for Commercial and Industrial Solid Waste/Refuse Collection and Disposal Services		2010 California Crossing Rd. Dallas, TX 75220 Dale Pound Tel: 972-392-9300 Fax: 972-392-9301		12150 Garland Road Dallas, TX 75218 Scott Hunter Tel: 972-289-6714 Fax: 972-289-6723		520 E Corporate Drive, Suit 100 Lewisville, TX 75057 Melanie Sanders Tel: 972-623-7277 Fax: 866-281-7431	e
Buyer: Sam Cooper, C.T.P.M . Contracts Specialist (214) 653-6304 // samuel.cooper@dallascounty.org		1 ax. 772-372-7301		Recommended for Award		1 ax. 600-261-7451	
DESCRIPTION:	Est. Qty.	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
Dallas County requires year-round waste/refuse collection service pick-up. Please indicate below any observed holidays when service will not be available:				Thanksgiving, Christmas, and New Year's Day			